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Mahesh opened a recurring deposit account in Axis bank for 3 years; the rate
of interest being 12% pa; which is compounded annually. The ratio of the
simple interest and the compound interest accrued is:
A A Axis dF & 3 g1l & faw madt FaAT @ar @, sarer i g7 12% gia
%;agmﬁa:w#m?ra?ﬁ%l Ffota |TURT s AR AFgefY AT @
HAUld &
1.25:35 2.500:623 3.625:643 4. Data Inadequate 5. None of these
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Account XXO01: A fixed deposit of ¥ x is opened in SBI for 3 years; the rate of interest
being 10% pa; which is compounded annually.

Account XX02: A recurring deposit of ¥ x is opened in PNB for 2 years; the rate of interest
being 12.5% pa; which is compounded annually.

Which product will give the higher return:

@TaT XXX1: ¥ x $r TF Fafr stAT SBl & 3 Wil & fow @yar Jmar g sarsr Fr X 10% 9ia
¥ §; ot affs w7 @ TR0 Bt B |

"IdT XXX2: T x Y TF HTadl STAT 2 i & fw PNB & @eT 9197 §; 4T #r X 12.5%
yfd a¥ &; ot afte & & gafad axdr 81

SieT "T 3cUIG 3T AT GI:

1. Account XX01 2. Account XX02 3. Equalreturn 4. Data Inadequate 5. None
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Mohan invested X 156250 in a fixed deposit at 20% per annum at compound

interest. However every year he has to pay 20% tax of the compound interest.

Mohan had X y after 3 years?
AgeT o X 156250 dHJe Y AT W Ufd a9 20% W WEf® AT & faaer )

mﬁwmwmmmm%wmm%lmﬁ?w3m

dqg Ty 31111’?
1.y =% 243890 2.y =%243880 3.y =%242890 4.y =3T249380 5.3249389
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Q;: ¥ 2000 amounts to ¥ 2420 at 10% per annum compounded annually after x years
interest?

10% ufq aif¥® IFqgefd sarer Y gT ¥ T 2000 x asf # T 2420 g T gl
Q,: At y% per annum Z 3000 amounts to T 3993 in 3 years, if the interest is

compounded annually?
aﬁma—rﬁa:mnﬁae’r ar gyfaay y% &Y &¥ 9T 3 asf & ¥ 3000, T 3993 T &
STt g1 Find y% of 35x.//y% of 35x AT HIfaT]

1.5 2.6 3.7.5 4.8 5.7
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Ram opened a fixed deposit account in SBI; the rate of interest being 10% pa;
which is compounded annually. However every year he has to pay 20% tax of

the interest. How much money would he have after 2 years; if he paid a total
tax of ¥ 5450.

A o SBl dF & Us AT SFTAT QGrar @dT;, sI1s $r &X 10% 9fa a¥ §; st

IfF w7 ¥ TN Bl 1 FTelifd & AT 3o AT FT 20% FT &1 UST B

%mammwﬁmmﬁmm mmﬁimsommwmrmm
|

1. 100000 2.%T 125000 3.% 145800 4. Data Inadequate 5. None of these
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Shyam opened a recurring deposit in PNB bank with an initial deposit of ¥ 5120 at the
start of the financial year; the rate of interest being 12.5% pa; which is compounded
annually. He deposits the same fund every year, at the start of each year, up to 3 years.
How much money would he have at the end of the 3 years? o

ITH A AT af & U A T 5120 Fr URIAF STaAT TRA & WY PNB dF & 3madt ST
@, s3I Y gX 12.5% 9fa ¥ §; S aiffs & @ g9ifoa @ 81 98 &) 919, 93 a¥
F AE A, TF & TR 3 ATl dF STAT FI 21 3 WA F A H 3¢ I fohcdarn d9T 81om?
1.T4168 2.T¥ 25000 3.T 19528 4.% 15360 5. None of these
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Krishna opened a recurring deposit in HSBC bank with an initial deposit of ¥ 6860 at the
start of the financial year; the rate of interest being 14.28% pa; which is compounded
annually. He deposits the same fund every year, at the end of each year, up to 3 years.

Find the total interest accrued at the end of the 3 years.

FSuI A faelT af & gRer A T 6860 AT YRIAF AT A F Y HSBC dF A et ST
T, SOTST Y gT 14.28% vfa a¥ §; I aif¥s & & AT i 81 a8 & 91, 9+ aw
IT A, TF § TR 3 W dF AT FJ 813t F T A JT FA A AT AT

.€20580 2.% 27440 3.% 6460 4.% 33900 5. None of these
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The compound interest; compounded annually on a certain sum of money @14.28% pa
after 2 years is X 9.80 more than the simple interest on the same sum of money at the

same rate after 2 years. The total amount received on the same sum at the same rate
after 3 years is X x; if interest is compounded annually.

fFd fafad a1 W @14.28% ufa aiffs & 2 aui & g aiffs FAfST Twaef sarer 34
e[l T WHTT a7 ¥ 2 T9T & FTROT s41sr & 2 9.80 HAF & AW T W 3 a8f & ¢
qIed Fel YA % x 8 IS surer ¥ wafaa &

1. x=%715 2. x=%750 3.x=%716.80 4. x=%716.50 5. None
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Rahul divided the salary received in the current month in the ratio of 2:3. The first part he
deposited in Axis savings bank account for 5 years @5% pa and with the second part, he
opened a public provident fund account in ICICI bank for 3 years only; the rate of
interest being 10% pa; which is compounded annually. The ratio of the amount received

from both the arts after the maturity is respectivel
W#mﬂgﬁ#mmﬁ23$m#éﬂﬁaM| UgdT T S 3oglel Axis

Tdd 3% @ A 5% aif¥e Hr g7 ¥ 5 T & v sar frar a1 3 guy 5T & @y, I
Fa 3 OIF ¥ AT ICICl §% #F gdeas sfasT 2 @ar @ saer #¥ &7 10% Sfy g%

g St aiffF ¥ @ FAfaT @t 81 IRuFaar F a9 Q=T el § 9o AR FT AT HAM:
: 1.50:99 2. 500:993 3.2:3 4. 2500:3993 5. Data Inadequaie
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How much percent more interest will be obtained, if a certain amount is invested in the
public provident fund for 1.5 year, interest accrued is compounded half yearly than
when interest accrued is compounded annually in HSBC bank; the rate of interest being

22.22% pa; which is compounded annually?

IfX HSBC &% 1.5 a¥ & aﬁaﬁﬁﬂﬁwﬁﬁrﬁwﬁlﬁaﬁmmﬁﬁwﬁmm
g, ar eTfarf¥e §afora saer aiffs §afoa saer @ fFaar gfaera A Adem: sar=r &Y

aT 22.22% 9fY a¥ & o af¥E w0 @ gOfoT B &2
1. 4% 2. 5.85% 3. 3.83% 4. Data Inadequate 5. None of these
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